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General Instructions : 

MATHEMATICS 

,,fu,a 

(i) All questions are compulsory.

[ Maximum marks: JOO 
[�31cfi:100 

(ii) The question paper consists of 29 questions divided into three Sections A, B and C.
Section A comprises of 10 questions of one mark each, Section B comprises of 12
questions of four marks each and Section C comprises of 7 questions of six marks
each.

(iii) All questions in Section A are to be answered in one word, one sentence or as per
the exact requirement of the question.

(iv) There is no overall choice. However, internal choice has been provided in 4
questions of/our marks each and 2 questions of six marks each. You have to attempt
only one of the alternatives in all such questions.

(v) Use of calculators is not permitted.
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(i) rf'l-11 rrR 3#rcnzf ff I

(ii) ffl "JTFr-q;r 1? 29 "JTFr t � 'ff7rf "&TJii 1? � t : 31, � "flW fT I &TJg 3l 1? 10 rrR / fiRii it
� f[cn arc,; cfiT 't I &TJg � 1? 12 rTR t ffi# it "f!P-TcF WR" arc,; cfiT t I &Tl? fT 1? 7 w;:r t
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(iv) T{!'f-w::r-q;r if� -::reff-t I frR- eft WR" am c/Tft 4 "JTFij= # rrm w: 3fr:if cfTr# 2 Jl7'if if 01/.f/Rc/7
� t I rfit ?f'RT !JRt if it JlT1Tc/if f[cn eft � c/7BT t I

(v) 4wt�wld #; w:ir7T "efl- 3FJ!{frr rfif t I

SECTION-A 

�-.af 

Question numbers 1 to 10 carry 1 mark each. 
� m§?:IT 1 � 10 W-fi" � � 1 3Tcfi" cfif t I 

1. Write the intercept cut off by the plane 2x + y - z = 5 on x-axis.
� 2x + y - z = 5 IDTT x--3T&, lR cfiJcT 11<TT �:m � I

I\ I\ I\ 

2. Write the direction cosines of the vector -2i + j - 5k.

�-2i + S- Sk in�=--r=-,-

I\ I\ I\ I\ I\ I\ 

3. For what value of 'a' the vectors 2-i - 3j + 4k and ai + 6j - 8k are collinear?

'a' infcRrl:fRinrnrn=rr�:�21 -3J + 4k � a·i + 63 - sf "fit&t?

4. Write the value of J
x2 �

i:ir,,�: f x2 �16

5. Write A-1 for A = [ � � J

�A=[� �]cnrA- 1 �1
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6. For what value of x, the matrix [ 5
; 

x x
: 

1 
] is singular? 

X 
cf fcITT:r l:JB" cf�� [ 5; X X: 

1 
] 3-16qf;bl-JOO?.J �?

1 
7. For a 2 x 2 matrix, A = [au], whose elements are given by ai.i = 

J
, write the value of 

a12. 

8. State the reason for the relation R in the set { 1, 2, 3} given by R = { (1, 2 ), (2, 1)} not
to be transitive.
fPj-.:.tj?.J {l, 2, 3} if R = {( l, 2 ), (2, 1)} IDU>RTI"�� B#-ill-l<h ;,�cfilcfi"RUT� I

9. Write the value oftan-1 [tan
3
4nJ 

tan- 1 [tan 
3
4n] cfill:JB"� I

. 
J 

sec2x
10. Wnte the value of 2 dxcosec x 

') 

J 
sec-x 

-- dx cfiT l:JB" � I
cosec2x 

SEGfION-B 

�-'a:I' 

Question numbers 11 to 22 carry 4 marks each. 
�ml" 11 i22 (1Cf?�� 4 �cfilt I 

11. Probabilities of solving a specific problem independently by A and B are ½ and ½ 
respectively. If both try to solve the problem independently, find the probability that 
(i) the problem is solved (ii) exactly one of them solves the problem.

65/1/2 

� � WTTZIT cfiT A � B mu ms!"�*�� cfiT l,l ifll<hfll � rn: ½ � ½ % I "'-l'R zj;:rr

ms!"� i WTTZIT � cfiB cfiT WITff cflm °t, rll l.llfll<hfll Wff � fcfi- (i) WTTZIT � m ti °t

(ii) &fif i�: ��WTTZIT�cR�t I
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